539 KA —T U A RGBEEFIERXSE AE—

FER26FETA30B0K)-7TA3TBCR)
S5 KR RATE

BF DYSR BEFFDI

TF DUSR BEREFEDE

Igf| FEFH B PE| B IBGr| EF 4 B BE| BA
1 |F\K 8 FHNRRRR—YHSTEER | /N4 |38.250 1 |EH K8 BAIXIKIESST | 1M |37.450
2 (FAB & | TONRRKR—YISTEBR | M4 [37.850 2 (Wi i2E PRZJUIFIEIST | /M2 [37.400
3 |IUA EHR BAITEESST | /N3 [37.400 3 [[EHE El |TINRRR—YHS5T| 1h3 [36.900
4 3EE B AT SREEIST | 14 |37.400 4 [RxT —i BAXKESST | 113 [36.900
5 [#AF A AT SREEIST | 1M |37.150 5 |AH KB PRSJLKIRSST | /h3 [36.750
6 |fhngk gt KREFWLIARIST | 13 [37.150 6 |hIB BTy | URISILERESST | /3 [36.200

BF DVSR BEFEEDE ZF DIUSRA BFEOH

lEfr| EF4 B 2E| B8R IEfz| EF4 R HE| BA
1 |#ME BX PKRIKEIST i1 |37.400 1 |FETE HETF | 791522 K—y5578R | /N6 [37.600
2 |EHE RRAEYZT /\6 |36.800 2 |[FEAR B BAXKESST | 15 [36.800
3 | Lk FED mE7 s AT os—xbpkgsE | NG | 36.300 3 |=E &3 YRS JLIAIRZST | 15 [36.400
4 3t sl mBZERIREIST | 1 (36.300 4 |fEE EFE BARKIRIST | 15 |36.200
5 |=F & M BZEKEIZT | 115 |36.050 5 |REFHEE | URFIKIESIST | /M6 |35.600
6 |XPIAE FE4E PREIREIST ING |35.950 6 |F)I X ANAIKIEDST | 16 |35.450

BF CIVI3X TF COIYVTR

gtz EF4 m B BE| BA IEfz| EF4 B PE| BA
1 |[E FR #HF S HRRI5T | 16 |48.250 1 |HH XA | #F50EIEIST | F1|47.650
2 |ghit #IK VICRR—YH95T | N6 [47.775 2 |HEEF |TINRRRKR—YHIST| ING |47.400
3 |#E@ EN GGSY37 i1 |47.500 3 |k ¥R |mEEXEFAR—YSST| M5 |47.300
4 |INK B FSAHEKIRIST | B [46.325 4 |BERK BAIEIERIRZSST | 116 [47.250
5 |(E3F JTH EINARESST V6 |46.250 5 |BK XK VICRIR—YH9S5T | /N5 |47.100
6 |FEE VICRR—YHST | §11|46.100 6 |1&EBk B HT KRBT | M5 [46.800

BF CIV93R ZF CIHV3R

lEsr| EFA B FHE| BA lg6r| EF4A B FE| BA
1 IR =8 |[TONRRRR—YH5T| 174 [48.000 1 |EXBR BAIEIEESST | 1M |48.350
2 |KER PREIRIST 1N |46.950 2 | Kt BE EFNHEIST N4 [47.400
3 | ByHE | TIONRRKR—YIST| 1IN |46.950 3 |E Bk FEAHEEIST | M4 |47.150
4 |EE RAE PKRAEIST /N3 |46.800 4 |BEX R EFRR—YI5T | M4 [46.650
5 |RIF FSANEKESST | /N3 [46.525 5 | KT %£A #H9 SHREIST | 14 |46.500
6 |AtE thim KRERI>7 /N4 |46.400 6 |MLE PXIEIRHISD N3 [46.350

BF CIVSR EmMIEB(DOYER) BF CIl1HZR ERMEB(DOYER)

lgsr| EFL B PE| BA lgfr| EFH i HFE| BA
1 |8 Fm HT ShKEIST | b6 | 9550 1| =B | FTONRRR—YH5T| 1ha | 9.200
2 |BEIR Bt VICRR—YHST | d1| 8.750 2 |dbiF 4= AiR{FRIST /N | 8.950
3 |fhit AKX VICRR—YH35T | /h6 | 8.700 3 |\yH B/ | TONRRR—YHSST| Iha | 8.900

3 |RiE thEE ABR{KIRIST /N4 | 8.900




539 KA —T U A RGBEEFIERXSE AE—

FER26FETA30B0K)-7TA3TBCR)
S5 KR RATE

BF BYZX XF BUVTAR
IBGr| EF £ B PE| B IBGr| EF 4 B BE| BA
1 |dtE LB FEAHIKEIST | 16 [58.200 1 |#E BIE | FONRRER—YHS5T| /N6 |51.450
2 |HEHE—EB | AT SHEiEIST | /16 |57.000 2 |/kRA UHY PKRKEIZT ING |49.950
3 |#R#E 150 FSAAERSST | 1N [56.525 3 |kl REE| PREIEIST NG [49.850
4 |IMg —E |FONRRRKR—YHST| /NG [56.500 4 |KE EBF PKREIRIST ING [49.400
5 |JII LT KERFIWLEESST | /15 |56.350 5 |t EE PRSJUEKIRIST | /N6 [48.450
6 (AR K& GGSHY57 /N6 |56.350 6 |[FE Bx PIKRIKESST ING | 48.400
7 |HF Xt AhAEEYST | IN5 |56.300 7 |FREE PR KRk I>7 NG |48.400
8 |BFA EKX |FIONRRKR—YHIS5T| ING |55.650 8 |[ithE FH1E EFNRKEIST ING |48.250
9 |RR HAH KR{Kigs>7 N6 [55.450 9 |h#t BPE | RAhCKEYIST | /N5 |48.050
10 |E@A ESf HT SRIKIRIST | 16 |55.425 10 |iffE 3R ILbyTH5T ING |47.850
BF AUSX TF AUSR
l&tr| EF4A T & FE| #BR IBGr| EF4A T B HFE| #R
1 |hE —E GGSY357 13 |55.950 1 |FmE —FFE PKRKEIZT 13 [53.850
2 |/ Kith PRAKEIZT 3 |55.050 2 |TE F® YRZILIKRSST | ®2 [50.950
3 |F0@ K% GGSY57 #2 [55.000 3 |ILK FE A HEKIRIST | #1 [50.650
4 |HRRE FEADAKEIST | B (54675 4 |FH#Ht |mXEFRKR—YHST| 2 [49.950
5 |TE B PRAKEIZT #1 [54.200 5 |RE B BAIEERIESST | 1 [49.650
6 |[BEH B | KERJFWAEIST | $3(53.700 6 |HHMA KR EF ARSI ST | 3 [49.200
7 (WA RE  [FHNRRR—Y4H5T| 3 |52.600 7 |ED EM PKRKEIZT 1 [48.700
8 |8 Kig KR EFWAKRESST | $3 (52.300 8 |l E5E ENKEIST th2 |48.250
9 |ZHH RER BAIFRESST | 2 (52.250 9 NIl Ri2 |mEREFRKR—YHST| 2 |48.200
10 |REA F=AHEIESST | 3 |52.225 10 |FXHE Bix VICRR—YH95T | 13 |48.100
BF 957 HHELE xF 957 HEERE
JE OB KAk g fiz OB RAb
1 rSAHIKIRSST 25 1 PRKIEIST 33
2 PREIRIST 24 2 TAIRKRIRY ST 13
3 FONRRKR—YYI5T 22 3 FEANEKESST 12
3 YRS JUKIRIST 12
EHELH
el BFA B BE| VSR
27|6H BHE |PKRI—RFEIST |ER|&FD
57|82 #ZE FEAHAKERIST | ER|ZFD




P26 H39MIKRR A — 7 R IRGREGR TR S 77 7THbRE—R
SRk 264ETH31H
25 KRTHPRAEE
By . e

PR AZS2|B2 S5 x| c1r52| &8 | NERE P A2 S5 2|B2 5 = |c1 52| &5 | NEAE
TINAAR=I 5T 1 5 16 | 22 3 T INAAR—=I 25T 0 10 0 10 | 5
TONZAAR=I 75 THEA| 0 0 0 0 11 |TIONRZRZAR= 75 THR] 0 0 1 1|10
I TIS5T 0 0 0 0 11 IS TIS5T 0 1 0 1|10
KE IR, 57 3 3 0 6 6 KE kR 57 2 0 0 2 9
KBikigr 57 0 1 3 4 7 KBtk r 57 0 1 0 1|10
BT 7Y a > 7 7 F — Rhidtk s 0 0 0 0 11 |BEwT 2> a o7 7 7 —Xrhiubifdes 0 0 0 0 16
GGS”757 16 2 0 18 4 GGS”57 0 0 0 0 | 16
WREFAR—=Y 75T 0 0 0 0 11 WREFAR—=Y 757 5 0 5 10 | 5
ABA T 5T 0 1 0 1 8 A AT 57 0 1 0 1|10
ARy VWEIZ7 0 0 1 1 8 2Ry 2KE 7 5 7 0 0 0 0 | 16
KWAR—=Y 257 0 0 0 0 11 KWAR—=Y 257 0 0 0 0 | 16
KN 57 0 0 0 0 11 Kk 57 1 1 8 10| 5
FIA IS ST 5 16 4 25 1 FIAHRERES ST 6 0 6 12| 3
BAZEERY 57 1 0 0 1 8 BAZRERY 57 3 0 10 |13 2

PEIEHR Y 57 11 0 13 | 24 2 PEIER Y 57 11 | 20 2 | 33
PRL—ZAKE Y 57 0 0 0 0 11 PRL— 2Ry 57 0 0 1 1| 10
WKW RS 57 0 0 0 0 11 | UNIU S e ad 0 0 0 0 | 16
VICAKR—=Y257 0 0 0 0 11 VICAR—=Y 257 1 0 0 1 | 10
M HZERERS 57 0 0 0 0 11 mHZE®ER Y 57 0 0 0 0 | 16
v 7 AR—=Y % 0 0 0 0 11 v 7 AR—=Y 4% 0 0 0 0 | 16
AT SRR 5T 0 9 0 9 5 ATSREEES 5T 0 0 3 3 8
VRIS 57 0 0 0 0 11 VRIS 5T 8 3 1 12| 3




